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  Q.7 The values of x satisfying |x–4| + |x–9| = 5 , is :  

 (A) x = 4, 9   (B) 4 < x < 9 

 (C) x < 4 or x > 9  (D) None of these 

   

Q.8   The number 7log2 is       

(a) An integer                    (b)A rational number    

(c) An irrational number    (d) A prime number 

  

Q.9     If 
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            (a) 12  x  (b) 12  x   

             (c) 12  x  (d) 12  x  

 

 

 



Q.10  If for real values of x, 0232  xx  and 0432  xx , then  

 (a)  11  x   (b) 41  x   

        (c) 11  x  or 42  x  (d) 42  x  

 

Q.11    The number of integral solution of 
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 is  

            (a)  1  (b)    2 (c)5                  (d) None of these 

 

Q.12    The set of all real numbers x for which 0|2|2  xxx , is  

              (a)  ),2()2,(           (b)  ),2()2,(   (c) ),1()1,(   (d) ),2(   
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 (a) }0|{ xx  (b) }1{}0|{ xx   

      (c) {–1, 1} (d) 1|{ xx  or }1x  

 

Q.14 

  
 

 

 

Q.16 Least value of 2 log10 x – logx (0.01) for x >1 is :  

 (A) 1    (B) 2 

 (C) 4    (D) 6 

 

Q.17 The set of values of x satisfying the inequalities (x–1) (x–2) < 0 and (3x–7) 

(2x–3) > 0 is :  

 (A) (1, 2)    (B) (1, 3\2) 

 (C) (2, 7\3)   (D) (3\2, 2) 

Q.18  (x–1) (x2 –5x + 7) < (x–1), then x belongs to :  

 (A) (1, 2) (3, )  (B) (2, 3) 

 (C) (–, 1) (2,3)  (D) None of these 

 

Q.19  Solution of the equations   log3 (x+y) and x2 + y2 = 65 is : 

 (A) x = 8, y = 1   (B) x =1, y = 8 

 (C) (x=8, y =1); (x=1, y=8) (D) None of the above 

 

Q.20 The number of real roots of the equation x2 –3 |x| + 2 = 0 is: 

 (A) 4    (B) 2 

 (C) 0    (D) None of these 


